2 0 (700) AFRHIES & 1 (710) HLHIE Mg (716) Hel &bl S (201) LEr29y (e @ &)
o = ¥ W =
= of A o = 2 &k = y) =
o (g NE = of & o
St
= A 43,589,000 38,800,000 4,789,000
700
AtEHI = 11,056, 341 8,414,328 2,642,013
710
gAH = 10,964,918 8,283,117 2,681,801
716
X el &l 5,187,052 3,012,037 2,175,015
200
=23 2| 5,187,052 3,012,037 2,175,015
201
28t I | 521,365 614,304 A 92,939
394,590 484,845 A90,255 |01 AR 2teld]
O dBt+==H| 64,731
o JIE2 MNRESHI 100,000& x 149 = 1,400
o =AD| 22 2,510
SAD EH F¢E 150,000& x 23| = 300
SAMI EE 7L 330,000& x 23| = 660
SANEBX FE 20,000& x 58 A x 128 = 1,200
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SAH =4l 350,000& x 14 = 350

o Dgif EH 7Y 237,000 x 30H x 23| = 1,422

© FAX EH +¢ 110,000& x 10 x 23| = 220

o STEE Ad2csE 7Y 960

StE4 HS3Hl+ 12,000 x40 & x 128 = 576

StEa A8EI MEH 8,000& x40 x 128 = 384

o ZEHN S5(100¢2) 7 1,950& x 256& x 128 = 585

o T MNEH 80,000& x 62| = 480

o FAAES(FAE2F 2) 7 150,000& x 14! = 150

o =83 F4A E9H| 200,000& x 3 & x 23] = 1,200

o 2XNEAMX(3K) & E2H 300,000& x 43| = 1,200

o N2LAEE 8,000& x28 x 128 = 192
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o OEHY 2 2 2B 65,0002 x 128 = 780

o E2.JIN,HI| BAVUY SHTYH 20,0008 x55 = 100

o 22X FIIPSE 11,0008 x 15 x 128 = 132

o ®IlgmBRlEE Bl 120,000 x 13| = 120

o =goFAMN o7 448 ,300,0008! x 43 = 5,200

o MEHSHAA 92 242 550,000% x 204 x 128 = 13,200

o £FTNSEIIII MEAM 2482 4,000

32 5300 9000008 x 13| = 900

sel =301 900,000& x 13| = 900

COD =HI|7| 9000008 x 13| = 900

PH =& J10I 600,000 x 13| = 600

SEEDIb] 700,0008! x 13| = 700
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o StamMel® AMEZH 48 400,000 x 123] = 4,800
o e =3 442 450,000 x 23| = 900
o MIIotM B WHE(ZSHEIE)  180,0008 x 128 = 2,160
o YK HEAA 228 220,000 x 43| = 880
o BEBH2 ++Z(MHEH) 20,0008 x30E x 103 = 6,000
o W4l RUE FIIAAH 130,0002! x 43| = 520
o HEJID| HEAAM 448 500,000 x 55CH x 20% = 5,500
o MBI +2E2 (Gt HAF-SHEEH)
240,0008! x 128 = 2,880
o StaHMelE MLl SLEAA =42 (5,000K0)
4,000,000% x 13| = 4,000
o EHEIZ M)t 2FHA 422 (500K)
1,000,0008! x 13| = 1,000
o MO AZB HA 242 500,000 x 23| = 1,000
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o SO0IAE U I o AA 222 100, 0008 x 10CH = 1,000

o BYIZALSY 9SS 120,000 x 2% = 240

O 29+g 54,350

o YR4g 50,0009 x 3% x 119 = 17,850

o ZX4g 50,0002 x 2% x 3652 = 36,500

O gxz 43,800

o SN S| 8,000% x 15 x 3652 = 43,800

O Ypixgy| 144,849

o Yolot+Rel 75,805

9xA R Y L AEY 50,0008 x 128 = 600

SR AR U ARE(HEN) P
100,000% x 128 = 1,200
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=AM E3HI 100,000& x 17& = 1,700
S A 2l 2,380
- SEAMJ EH, EE F2Y 390,000& x 104 x 23| = 780
- SMEXN Y 20,0003 x 5% A x 128 = 1,200
- SAI SH(0/AH2) 400,000& x 14 = 400
zeld EH 2 237,000& x 401 x 23| = 1,896
WAIEel EH 2 110,000& x 104 x 23] = 220
BMN2ALES (MR E0182)
200,000& x 20 & x 63| = 2,400
gE ZEEL 7Y 350 x 20000 x 12&8] = 840
AJILER=D1 € 25,0004 x 28 x 28| = 100
32222 (M. 2. 288)722,000,000& x 14l = 2,000




MNI& @ (716) M2l & 2 @ (201) LRI (<
H =
= 2 At = 7| =
8t = & o
SeHIFA 2AH|(EH25] AlAl) 550,0002 x 23| = 1,100
EASK HA2UAM 242 450,0002 x 23| = 900
ETNSESHI|D| BSHAM 42 4,000
- ZE&A =XD|D| 900,000% x 13| = 900
- &0 =¥ 900,000% x 13| = 900
- COD =X D|D| 900,000% x 13| = 900
- pH &I 600,0002 x 13| = 600
- SS =&J|D 700,000% x 13| = 700
OFX A 97 £4B(2EEAFST)
1,600,000 x 43| = 6,400
SLFAA QT 222 (0JIBRAY )
2,000,000 x 24 A x 23| = 8,000
MEHSH =FHOZ $22(8Y,2R)
550,000 x 200 A& x 123 = 13,200
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SIaFELE gEeMaa2(NHEE)
13,2203 x 10&€ x 128 = 1,587
SIAFELE BRSH MYI BEETY
1,9502 x 500H x 128 = 1,170
2ol FOIEH BHHA(FINLAE
1,560,0008! x 13] = 1,560
EHHOIE R0FH +42 140,000% x 128 = 1,680
EHBOIE M)ILH UHAAM(ZI) 248
845,0002! x 13| = 845
ROLE FOI&H RBAA 242 6,500,0008 x 13 = 6,500
2N 2 DY 222 (LRRYNUIE)
6,200,000 x 14| = 6,200
JhAE Y FHIIY A 35,0008 x 13] = 35
E2,01M, 8|, #F2 THRY 50,0008 x55 = 250
NEEEE 8,000 x 34 £ x 128 = 288




I

0
Jio
rx

MNIg o (716) el & £ 1 (201) B2 EH (&9« &)

=S
= Z & E pli =

O_'I-I

HIGtMU+==2(SHEZE) 304,500 x 128 = 3,654

Agdd MY ==S 400,000& x 128 = 4,800

ENFEEXN FIP=(23) 150,000& x2& = 300

o AN Alot=HelE 69,044

= AN2ESHI 100,000& x69Y = 600

SAH 2l 1,610

- SAEYH, E8 P2 390,000& x 1 x 13| = 390

- SASA 78 20,0003 x 3¢ A x 128 = 720

- SAI L0/ A2 500,000& x 1CH = 500

Tl EY 28 237,000& x 20 x 22| = 948

mAe EY P2 Y 110,000& x 10H x 13| = 110

gad 37 NE= 25,000& x 128 = 300
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M2 ES (2SS 5HA) 100,000& % 23]

e
o
THo
_|H_'
o
0K
I
&
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| S5 1,950& x50 x 128

gE IEEL 7Y 2503 x 1009 x 122
AIILER=D1 7€ 25,000& x 2& x 638
gkl E283Ax=2 482,900& x 23]

AtsdIIEH 2FBAL =8 2,502,500& x 1]

LotBl MR MEBOHAG £4R

35,000,000 x 14!
SI4ESEE BEEHASAE (MHEX)

13,2203 x2.5= x 128

1,300,000& x 43|

S&EA4 s3I 900,000& x 12

200

170

300

300

966

,503

,000

397

,200

,000

900




= (700) AtHI=2 & (710) 2 LIS Mg (716) Hel &bl = (201) LEt=2HY| (&<
o = ¥ W =
= of & o = 2 &k = y) =
o (g NE = of & o
- 52 53| 900,000& x 13| = 900
- COD =&J|7| 900,000& x 13| = 900
- pH 3|7 600,000& x 13| = 600
- SS &I\ 700,000& x 13| = 700
It =5 660,000& x 12& = 7,920
Agtord Al e =3 360,000& x 12& = 4,320
E= 01, M0, 232 SATY 50,0008 x 105 = 500
SIHEBEX HIRS(28) 150,000& x2& = 300
SUN 2 DE 2422 (LBRBHAE)
800,000& x 304 = 2,400
O 923 S 294y 83, 500
A H 2l & 53,750
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TESPN 50,0008 x 3% x 1152 = 17,250
SEENE 50,0008 x 2% x 3652 = 36.500
o GANTAIGHEHEIF 29,750
SRS 50,0008 x 2% x 1152 = 11,500
SEENE 50,0008 x 12 x 3652 = 8, 250
O oxg 3,360
o o otR 2l E 3,360
HEE FHE Mol U ¥ A 2oy A0
35,0008 x 8Hx 123] = 3,360
126,775 129,459 £2,684 02 23|

O 223 % MA 17,648
o SHIAMSAY £dHHa 28 57,0008 x 13| = 57

o AGt+E RB(A4AMIAZ ZHEDZ, IHH)
1,2009) x 450 x 30 4 x 122 x 80% = 5,552
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= = Z s E pli =
0_'I-I
o HesEXH 770
HIHA =22 20,000& x 13| = 20
ANSAHEES (MY, ZE) 350,000& x 1CH x 13| = 350
INE=DNI 150,000& x 10 x 23] = 300
SR PO == 50,000& x 104 x 23| = 100
o 3}ESEE(LE2.58) 875
ZIIEAN =82 25,000& x 13 = 25
AAsH2ES (MY, BE) 580,000% x 1CH x 13| = 580
& XAl 50,000& x 10H x 28| = 100
SED FaE == 85,000& x 104 x 23] = 170
o 22 394
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=z 2 & = ] z
O_'H
dotBEZ 2202 x 20038 = 44
sREZ 1,750 x 2003 = 350
O A=l 21,600
o ItARZS 21,600
=l 900& x20m x 8A| 2k x 90 = 12,960
Het 900& x20m* x BA| 2t x 60 = 8,640
O wEaHy 1,800
o HEs8((928) | 1,000,000& x 10H = 1,000
o HEgsg((92s) RFREI(ER) 1,760& x5 ¢ x200g = 1,760
o YEEZYH(2.5&8)12 X4l 2,000,000& x 10# = 2,000
o UEEH(258)3FUI(ER) 1,760& x20 4 x200Y = 7,040
O 239zl 4,600
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o MAIANSE A4FHl 50,0003 x 14H x 62| = 4,200

o FAZoAZ 2Ll 100,000 x 1 £ M x 43| = 400

O 3323% MAl 45,690

o dollot+=Xl & 33,494

Mot R=s 1,100& x350= x 20 & x 128 = 9,240

SIIetM 2te| At 3l Y] 120,000& x 13 = 120

SEIA MEANE EoiHEEE 50,000& x 12| = 50

EngIgtiFSIN-= Koiis] 100,000& x 13| = 100

htraes 860& x30&E x8H*x 60 = 12,384

dates 50,0003 x 10§ x 12& = 600

AOIETV=AZE 25,0003 x 2 & x 128 = 600

AEEE= 1,400
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- ABSE MAPEE 350,0002! x 1CH x 13| = 350
- si2Ey MAuPEE 350,0002 x 104 x 13| = 350
- A8sE zaREE 350,0002! x 104 x 18] = 350
- si2zy zagEz 350,0002 x 104 x 13| = 350
Xt S XA 200
- AESE USHA 50,0002 x 10H x 23] = 100
- 2= UEXA 50,0002 x 104 x 23] = 100
sANHRYS 2,380
- ABSE BRMHARLB(11.55) 85,0008 x 23] = 170
- SE2EY BLYMHNSLLS(2.58)  105,0008 x 23] = 210
- NESE BANESS2(9,206% L0IEH)
1,000,0008! x 23| = 2,000
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SEB 1,000
- goteH 250& x 5002 = 125
- SJIRER 1,750& x 5004 = 875
B3 MES(SAHEZE) 100,000& x 128 = 1,200
82, SHZANE &2 B0,000& x42/ 6 x 128 = 3,840
NsSRLYRE= 8,881.83m x350& x0.244x0.5 = 380
o UM AIGH=HelE 12,196
A8SEX HYLES 350,000& x 1L x 12| = 350
AL SEEEE 350,000& x 14 x 13 = 350
2SI E X XS KA 65,000& x 104 x 13| = 65
A2SSSA BEHERE S 100,000& x 10H x 23] = 200
L8 EXN 2L EE= 65,000& x 128 = 780
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ot R=s 1,100& x300m x 128 = 3,960

Hate= 50,000 x 1CH x 128 = 600

ANOIETV=ANE 25,0003 x 104 x 128 = 300

sz (18d) 465,850& x 128 = 5,591

O ¢g=dl 510

o dollot=XMcl & 510

FUELY Hd2EI 3R 1,700& x50 4 x 63| = 510

O Xtgd el 17,427

o ozt 10,060

A& = Xl 10,060

- AESE(67065) 1,500,000& x 104 = 1,500

- YEEH(2.58) 1,000,000& x 14 = 1,000
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- SFH(ER) 1,800 x 175 ¢ x 20 x 128 = 7,560

o AN Alot=HelE 7,367

HgsNH (a2 2H) 7,367

- =Xl 2,000,000& x 14 = 2,000

- SFH(ER) 1,789& x 3,000 ¢4 = 5,367

O SRzl 7,500

o goiot=HMeld 5,300

HNAIDAMNSE A4S H| 50,000& x 17H x 62| = 5,100

T=2AS 2 100,000& x 1HR M x 28] = 200

o HAMTAlGt=HelH 2,200

AN ItAl = Sl 50,0003 x69H x 63| = 1,800

224 E 2Ll 100,000& x 1HR M x 43| = 400




: (700) AFRIHIE s @ (710) ¥HIE Mg : (716) X2l &bl 2 : (202) 04| (S @ &)
= PS IE ==
— of & oo = 2 A = pll =
& = of A o
202
Ol Hl 88,792 88,506 286
88,792 15,096 73,696 [01 =L§0dHl
O dt4Mel YR =E 22 0 272,9002 x 4% x 43| = 4,367
O ANAESE HDAIE 220 272,9009 x 4% x 43| = 4,367
O TNS 2 MEIESAN 23 HIIDNS 220l
272,900% x 2% x 23] = 1,092
O 2= 92=X 20| 20,0009 x 153 x 83| x 12¢ = 28,800
O YaollotseHdel & 35,097
o AASE HDAE 2204 272,9002 x 5% = 1,365
o TMS, MEISA 23 A= HIIMOIL &
272,900% x 2% x 23| = 1,092
o AUZ AUREX U =Z0{BD,000% x 174 x 83| x 128 = 32,640
O YAMTAIG2H2 15,069




: (700) AFRIHIE s 1 (710) ¥gHE M& : (716) M2l &yl = : (202) OfH| (&9 @ HS)
= H B <
— of & oM = 2 At = pll =
& = of A o
o AASE HDAE 2204 272,9002 x 5% = 1,365
o TMS, MEISA 23 A= HIIMOIL A
272,900% x 2% x 43| = 2,184
o U= U =A Y =F0{HPO,000 x 6 x 83| x 128 = 11,520
203
SE=E=F I 8,720 8,720
1,520 1,520 002 HAJIAY =AY
O MAIAY =Y 40,0002 x 153 = 600
O Yollalxel & 40,0002 x 179 = 680
O <orstaxel & 40,0002 x 6% = 240
7,200 7,200 0104 BEMSYAI=XY|
O BEANSYYI =AY 250,000% x 128 = 3,000
O BEA2Y 42 =AY 350,000 x 128 = 4,200




Y AHIB Mg : (716) Hel &b = 1 (206) WEH (ci9l @ ®R)
R
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) = o o o
546,338 488,533 57,805
248,445 209,563 38,882 (01 LB =HI
O JIAN=SE &5 +¢ 1,850& x 200 £ x 128 x 30% = 1,332
O JIAMSE Hela #¢ 5,500& x 45kgx 128 x 30% = 891
O JIANME 7Y 4,500
o BEZHE VEE 2 108 1,000,000% 141 = 1,000
o HOEe 308 (EZ & 8sII8) 1,500,000 % 14 = 1,500
o HH2XM(AEYOIH & 108) 2,000,000x 14! = 2,000
O &JMg 7Y 13,000
o HidE XtEII(NFB) 53 (50-600A) 3,000,000x 14l = 3,000
o MXOHEJI(MC S/W) 53 (10-1,580P) 3,000,000& x 14! = 3,000
o AHOIE(CVAHOIZ)2 65 3,000,000& x 141 = 3,000
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o MM MAFE & LD 2 48 3,000,000x 14 = 3,000
o E1NY =8&dl M=l 1,000,000 % 14! = 1,000
O A& MH&H Mg ¢ 13,200
= CPU JtE= 8,000,000& x 14 = 8,000
o LM ItE 1,400,000& x 204 = 2,800
= |CM JtE 1,200,000& x 201 = 2,400
O =2H AH=I 1,000,000& x 2504 x 30% = 7,500
O =&H H=I 2 750,000 x 30CH x 30% = 6,750
O BHEITZH MS(AZEAEHE 2 583)72Y
1,000,000& x 14 = 1,000
O XsHAH AAE 22 Z2ZHHEH £ 2,000,000 x 30 = 6,000
O Xs ASHH A28 L (HLDE"E ~28T)
6,000,000& x 24 = 12,000
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O 2 N£FI| Bet0lE 7Y 200,000 x 3074 = 6,000
O SANSFI 2Tz 7Y 500,0008! x 474 = 2,000
O 22AN+EI MY PY 20,0002 x 200 = 4,000
O Z¥4 ¥ OB 52 7Y 250,0008 x 85 x 13] = 2,000
O ZZu2g =2gHI2 7Y 15,0002 x 20 x 23| = 600
O SNZA 2P JAF(ZORI S)Fgs 2
1,9009 x 5002 = 950
O HUAY N3], 23 7Y 10,0002 x 8074 = 800
O 92 Yol AE Y 5,000% x 80} = 400
O +EAME AS L 2XI| 2 150,0002! x 325 = 4,800
O 2REFX ZHX HBHY P 320,000% x 194 = 320
O *EAALAZHI(TNS) 22422 U FEH| 14,000
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o AZHUEH W2 (==AH 2 175)
800,000& x 9 =

= : (206) MEHl (£t
& = p] =
224 =5D|D 4,000,0009 x 14l = 4,000
Zol =8| 3,500,0002 x 14l = 3,500
o COD =FJ|D 3,500,0002 x 14l = 3,500
o PH, SS =HI|D| 3,000,0002 x 14l = 3,000
O Zafstarel® 73,900
o els BU LHM, FA 80,0008 x 58 = 400
o 2AZ 29 Y P2A JTY(18L/S) 40,0008 x 105 = 400
o JIAME 1,000,000 x 13| = 1,000
o HIME PY(DLYEX 9 308) 3,000
DUBXR S 4 200,0008! x 105 = 2,000
HOIE(CV) A4S 200,0008 x 55 = 1,000
7,200
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[o]
=
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2F
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©
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02
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o JlAH &4

0=
It

& pJ =
e 7Y 300,000& x 23]
ARE #Z RA(UsY #=)
450,000& x 20H
60,000& x 100m x 2CH
e 155,000 x 674

I, liwgege 2¢

1,800,000& x 1AMl E

200,000& x 1CH

180, 000& x 204

sk 2,170,000& x 1Ml E

7,500,000& x 1CH

600

,000

,460

,000

930

,800

200

360

, 170

,500

,500
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L (716) M2l Z | S : (206) M| (29
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OXEg 28 28HED) 400,0008! x 1004 = 4,000
o XA E g 7Y 15,0008 x 30% = 450
o £WAMES A% =X 7 100,0008! x 305 = 3,000
o 2XHEHX 2K Heil P 320,000 x 20} = 640
o FHAAAANZHI(THS) 2R 225 L FEH] 10,000
00D =J |7 2,000,0008 x 15 = 2,000
20 =237/ 2,000,0008 x 15 = 2,000
=R ESEL-PIP] 2,000,0008 x 15 = 2,000
SR EDIP] 2,000,000 x 15 = 2,000
PH =312) 2,000,0008 x 15 = 2,000
o MEYSX +HFEFANS) 42 228 7Y 9,250
ORP ZFJIJ| 4 A 500,0008! x 105 = 5,000
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D0 SEDIIJ| &g el 350,000& x5& = 1,750
PH S& D101 A A 500,000 x5& = 2,500
O UM Z NGl E 72,502
o 2AEF 2 % FelA FY(18L/E) 50,000& x20& = 1,000
o NEEx+E 37 & 2258 7Y 500,000& x 43| = 2,000
o JIAMZ(HAHE 2 408) 1,200,000& x 43| = 4,800
o HMIIM= 2,000
DeHRF= S 93 200,000& x 10& = 2,000
o HEHMHEH Mg P (=2AH 2 31)
1,500,000& x4& = 6,000
o X+ & HU2CE s 78 50,000 x4E x23] = 400
o XZFHEB SEH=E 7L 15,000& x 30% x 23| = 900




© (716) HMel&ul 2 : (206) M 2H| (che : ®MS)
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o HO3d &8 7¢ 100,000& x 10m* = 1,000
o MECR SUB2AE W2 FA(SDII 2)
100,000& x 3& x 33| = 900
o &£3J ey g 2 500,000& x 4SET = 2,000
o €=2J 7g 2H 7L 200,000 x 20 x 43| = 1,600

o XA (W)A=SEH AL2SFL(SLNESH 28I 3.5KW)

000,000& x 34 = 9,000

o =HZME ANY & =XHFY 130,000& x 308 = 3,900
o AFALANIH(TMS) AR A2F L AFH| 18,402
BOD =& I 3,730,000& x 14 = 3,730

coo =&JI7I 3,582,000& x 14! = 3,582
o =FI[J| 4,955,000& x 14! = 4,955

Z34 =HI|D 4,955,0009 x 14 = 4,955




AU E NIg o (716) el & £ @ (206) M=z Hl (&tel @ ER)
R
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pH,SS £ & JIJI 1,180,000& x 141 = 1,180
© AGIZHX G tAF P& 186,000& x 100m" = 18,600
297,893 278,970 18,923 |02 23 HI
O g+22H(SIDER STA) 2
4,000 x600kgx 128 = 28,800
SHH 7Y
3,000& x 500kg x 12& 18,000
SHH 7Y
3,000& x 100kg x 12& 3,600
6,800& x 20kgx 60 8,160
214,000% x 10&E x 4& 8,560
3,000& x 25kg x 603 4,500
151,770
JDEX STH(B2AH)RY
5,000& x 600kgx 12& 36,000
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= 2 & & p] x
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o A0ZAX FAB HARIIDEX STH(B2H)TL
3,400 x 1,000kg x 128 = 40,800
o ANSAX HS(Z2HEMOIE)TL
1402l x 6,000kg x 128 = 10,080
o AS%E(2222I)7Y 3,000l x 50kg x 602 = 9,000
o EIIZ DIME Z2H 2Y 6,800l x 10kg x 302 = 2,040
o 23) 042 PY(HIR 2 25) 47
1,000& x 150L x 12& = 1,800
o o M8 Z2lgsaL=0E(PAC) 2
214,0008 x 25E x 3% = 16,050
o EHBOZ LHAE 7 ,800,000% x 20E = 36,000
O Zotal T Al 4R 2l & 74,503
o RI=XN SEHM(BelH)7L 5,000& x 900kg x 12&8 = 54,000
o ZHA 7Y 3,500 x 100L x 128 = 4,200




(710) S HHIE A& (716) H™el &bl = (206) M Z 4l chel - ®F>)
ER=
of & o 2 & e | ES
5 = oo
o 230 042 PA(HIL2 2 2Z)
1,000 x 300L x 12& ,600
o ASAEF(EZ2223I|) ¢ 2,783& x 15kgx 60 ,505
o Zdgsgrlls +¢ 254,930& x40 = ,198
36,431 35,709 722
36,431 35,709 722 |09 DJIEt=clZ= Y|
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200& x 16% x 150

25,000& x 143 x 13

25,000& x 14% x 18]

7,0008 x 14% x 63| x 12&

7,000% x 209 x 43| x 12&

, 180

480

350

350

13,776

7,056

6,720
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MNIg o (716) el & £ @ (212) =EclZ= 4] (&9« &)

=S
= Z & E pli =

oH

O Il=H| 2,155

o goiot=HMel & 1,565

Y= 30,000& x 17H x 18| = 510

ag= 40,0008 x 3 x 13| = 120

e 10,000& x 1798 = 170

otM S} 30,000& x 178 = 510

f2 15,000& x 178 x 13| = 255

o AN AlGt=HelH 590

ag= 30,0003 x69H x 18] = 180

ag= 40,0008 x2&¥ x 18] = 80

R el 10,000& x6¥ = 60

ot M o} 30,000& x6H = 180




oyl g s @ (710) ¥HIE Mg : (716) X2l &bl 2 1 (212) 223 M| (&9 @ HS)
= PS IE ==
— of & oo = 2 A = pll =
& = of A o
29 15,0002 x 6% x 13| = 90
O 2l 19,320
o Yollata el & 14,280
A2XBANS 2= S04 A
7,0002 x 179 x 63| x 128 = 8,568
INANE =S8 SE2AH| 7,000 x 1798 x 43| x 128 = 5,712
o YA AIGHEHIE 5,040
A2XSANS 2R E20AY
7,0002 x 6% x 63| x 128 = 3,024
INANE E8 EY ZAIH|7,0002 x 6% x 43| x 128 = 2,016
214
LML DAL 2,568,578 430,249 | 2,138,329
1,991,646 12,750 | 1,978,896 |05 JIEl Al b
O MaLH 252 CXNE HEI 2680
5,000,0002 x 3CH x 50% = 7,500
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MNIg o (716) el & 2 @ (214) =& F XN WHH| (&9« &)
=S
= Z & E pli =
O_'I-I
O &g UXNE E3AHEI =& HPI0,000& x 30CH x 30% = 2,610
O g7 HLEE =& WA 150,000& x 164 x 30% = 720
O g=xJ) &8 =& WH 5,000& x 40004 x 30% = 600
O g€=x)] &2 & =& Wi 150,000& x 8 x 30% = 360
O g=xJ fg2E =& WX 290,000& x 84 x 30% = 696
O g=J] IE ==& Wi 6,000,000& x 4CH x 30% = 7,200
O ot==dX Xl 150,000 x 25& x 3652 x 50% = 684,375
O goliot=XclE 649,500
o goiot=XMclE ot==ci Xkl 28yl
8,500& x 1,000 x 128 = 102,000
o goict=HMeld ots==ciXl XMl
150,000& x 10= x 3656 = 547,500
O g2dd T Alot=xel & 638,085




© (710) ¥YHI =2 MNIE : (716) Hel & 2 (214) 268K X DA (el @ ®2)
I
o & oA =] Z &F = | =
i s of & o
o oGt HelE St sedkl 28H|
8,5322 x 350E x 128 = 35,835
o Lot R s X Heldl
150,000 x 11€ x 365 = 602,250
576,932 417,499 159,433 |06 Al & ZH| R Xl H
O 8t2HMel&, EHEHIOX, NADHEI S JHAMEE B
89,200
o PH B2 20,000,000 x 10CH x 10% = 20,000
o &) B 10,000,0009 x 4CH x 50% = 20,000
o HEZSHIUIN(SYES . ZEH,B2s) S22l
3,000,0002 x 6LH x 50% = 9,000
o A3J=2 ZHOIKH SXZ2ldl 3,000,000 x 16CH x 10% = 4,800
o WHHI2 2 JIE JIHAMES(EAK 2 11HA)
7,000,000 x 12JH & x 10% = 8,400
o =X s=)| X2l 10,000,000% x 3CH x 30% = 9,000
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&t E pli =
o =ikl &I |RA2el 10,000,000 x 6CH x 30% =
A 22 HE 2 a=Hl 500, 000& x 5208 2~ x 20%

el A=s4HI(UV) S X 22lH]10,000,0003 x 3CH x 30%

H=&Hl =X 228l 500,000& x 505 x 30%
EEA(BZIHEQ 4F) s 2elHl 500,000 x 25

el ¥ SO0AE sSA &2l

1,000,000& x 109H 4 x 30%

AYAE SX2H(ASEEZ 2) 800,000& x 9K &
W] szl (2els ) 400,000& x 8CH

ASHO LdEBSENE 2 55 A2l

1,000,000 x 9% x 50%

PCS NS HOUAAE T2 8 S X 22l
1,000,000& x 43|

CCTV Jthllet = X222 1,000,000 x 169H A x 30%

,000

,200

,000

,500

,000

,000

,200

,200

,500

,000

,800
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O ZZWEHH SAB2AV(Z2IS)  2,000,0008 x 104 = 2,000

O B 2ZAA HHS L 200,0002 x 205 x 50% = 2,000

O M2uSx =FHAH X H300,0008 x 34 x 65 x50% = 2,700

O ZA4 L OB FHIS AL 600

o OlFI Xl 100,0002 x 30 = 300

o TOAI| KA 100,0002! x 3CH = 300

O Ald ot S X2l 100,000& x6IH A = 600

O ZU2ZY MESER S2ANM 200,0008! x 43| = 800

O TS =&=8I| RNE= 700,000& x 108 = 7,000

O HI| AlLd2 |22l 44,000

o SDYLTY Y DADEH IS
1,000,000 x 208 x 50% = 10,000
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o a2 MIIAE 1,000,000& x 12JH 2 x 50% = 6,000
o 2ks HZ2W 2= 3,000,000& x 14! = 3,000
o ZTHEZLY BEXIXPE 221,000,000& x 10IH 2 x50% = 5,000
o FOUHSFAIE - HAANE - HERX B
20,000,000& x 14! = 20,000
O Yoliot=Xcl& 247,686
o JIAANEES RANZCH(S2HEDZ HEH2S)
35,000,000& x 14! = 35,000
o EHANE(H=SEX)EHM 1AM 20,000,000 x 1HA = 20,000
o HEMO 2lAAE(IIAAME2H0I218X)
20,000,000& x 14! = 20,000
o d HHIAE KA 2 4,000,000& x 14! = 4,000
o ¥ SAZH(MHEE, ATES)
5,000,000& x 24! = 10,000
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CCTV= Al & 2| i 2,000,000& x 14
F=EEXN sdXN==EI =X 2l

20,000,000& x 14

sd Xl =2 X224

[=1:]
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r D (ME )= Al 2eldl
10,000,000& x 2LH x 50%

ST (L0EX) S X2l
10,000,000& x 6CH x 50%

AEESI =X 22l 20,000,000& x 2CH
St=HMelZ == SIS A (Z, SH)

3,000,000& x 10Xl

A2z HEE E8E HA 2,500,000& x 401 2~
AEa =ZFHA HHlS X 50,000& x 403

MS=ZE =& &4l =AXlbl 1,500,000& x 10& x 30%

20,

40,

30,

40,

30,

,000

000

000

,000

000

000

000

,000

,000

,500
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250,000 x5H & x 38

S Xl

100,000& % 23]

1,950& x4 ¢ x3Hx40¢

150,000& x 2CH

5,000,000& x 15

1,000,000& x 10&4 x 50%

ARE FHIAE SA2ACI(HEAABIH L)

2,000, 000& x 57K A x 50%

250,000& x 30 x 50%

, 750

,436

200

936

300

,000

,946

, 750

,000

,000

, 750
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o JIAANESES RANZH(SHEZ WEH2S) 38,500

2 HA 2HEZ 1,000,000& x 50CH x 50% = 25,000

HEH2 2 JIE JIHANES(F MR 2)

3,000,000& x 9 & x 50% = 13,500

o HEa8Ex) EEE =4 14,560,000& x 104 = 14,560

o HESAMAIE KX 22l (CCTV 2) 2,000,000 x 14! = 2,000

o s ZelAlA" =X 22l 10,000,000& x 14 = 10,000

o sd il g=xJ| |X2cldl 10,000,000% x 24 x 50% = 10,000

o 0FJ H &E2I| =22l 1,136

5= Xl 100,000& x 23| = 200

SEH(HER) 1,950 x4 ¢ x3Hx40€ = 936

o WS E =ZH A ZHI=XHR50,000& x5H E x3F = 3,750




2= 8,520& x 1,000kwx 12&

ANERS 92& % 400,000kw x 12& x 90%

(710) 2 HI8 Mg (716) X2l =l S : (214) 2 HKX DAY ool d)
ER3
o & o 2 & & | ES
& = oo
ZOIE EFASI SNzl 250
MLL &1 A 7,500,0008 x 20 x 50% = 1500
DO A 2,500,0002! x 3CH x 50% 750
RYSWEY F4+N NS
5,000,000% x 274 £ x 13| 1000
MEHSEZY BN NS A
5,000,000 x 274 £ x 18] ,000
ABAIE SR (ZAS 1H2)
1,000,000% x 14} 1000
Held W 23+ 7Az2eltl 5,000,000& x 14l ,000
1,416,828 | 1,346,016 70,812
1,416,828 | 1,346,016 70,812 [0 st+HMel® #1223 680

,240

440
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923 x 24,000kw x 12& x 90%

92& x3,600kwx 12

6,780 x 15kw x 12

923 x 3,600kw x 122

6,780% x 250kwx 128 =

6,780 x 15kwx 12& =

8,050& x 1,211kwx 12&8 =

44,

20,

23,

653

571

116

187

340

847

, 196

,221

,975

, 196

,221

,975

,556

,037

,983




FAHE Mg (716) HMel &l £ @ (215) S| (&tel @ ER)
R
& o 5 2 & = | ES
8 = o & o
MNERS 72.8& x577,500kwx 128 x 90% = 454,054
o BHEZH IS 82,519
lZes 8,050& x 256kwx 128 = 24,730
MNMELS 72.83 x73,500kwx 128 x 90% = 57,789
O YT AlGts=X el & 209,013
o godoteXad MIIRs 209,013
Z2es 6,990& x 271kwx 12&8 x 1.1 = 25,005
MNELRS 69.7& x200,000kwx 12&8 x 1.1 = 184,008
5,777,866 5,271,080 506,786
3,817,917 3,613,886 204,031
3,624,857 3,423,666 201,191
3,261,125 3,126,148 134,977 |01 2=
O J=s 2,128,262
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3,976,100& x 3H

3,414,500& x 13&

2,853,900& x 74

2,176,400& x 74

3,414,500& x 1H

2,976,200& x 13&

2,483,900& x 13H

1,609,800& x 34&

3,300,400& x 2H

x 128

x 12&

x 128

x 128

x 128

x 128

x 12&

x 128

x 128

2,128,262,000& x 0.93/12
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11,3643 x 3E x40A12F x 12&

9,692& x 14& x40AI1 2+ x 12

8,7543 x 20H x 40Al 2+ x 12&

7,860 x 20H x 40A1 2+ x 12

7,1043 x 3% x 40Al 2t x 12&

9,342 x2& x 40A| 2t x 12

54,6343 x 4H x 30

40,000 x70H x 12&

20,000& x 1209 x 128

) 345,600 x 159 x 43|

65,

84,

75,

238

62,

33,

28,

20,

039

456

,230

,969

,557

, 789

400

600

800

736
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20E 01 &

158 0| &
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D=2 F0t Oit=

25801 &

208 0l& 254012t

HoRLY(AE)
czepag
52

62

100,000& x 40 x 128

80,000& x 13& x 12&

60,0003 x 3H x 122

50,0003 x8Y x 12&

30,000& x 256% x 12

10,000& x 169 x 12&

50,000& x 359 x 12&

157,820 x 2% x 128

135,530& x 129¥8 x 128

67,

48,

21

56,

440

000

,480

, 160

,800

,920

,000

,920

,000

293

, 788

,517
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113,

130,

116,

101

80,

127

50,

30,

20,

280&

040&

590&

,990&

3403

, 4203

000&

000&

000&

x8d x 12&

x 18 x 128

x 59 x 12&

x 79 x 12&

x 29 x 12&

x 29 x 12&

x 1% x 12&

x9d x 123

x 8% x 12&

,875

,561

,996

,568

,929

,0569

, 720

, 760

600

,240

,920

, 720




T A& : (751) Lerately) S ¢ (101) e1ty] GLER-EY
R
& o 5 2 & = | ES
8 = o & o
Il A 30,0003 x7H x 128 = 2,520
AF D] AL 20,000& x5F x 128 = 1,200
o SFYREA+E 180,000& x 39 x 12&8 = 84,240
O Az Al 130,000& x 62& x 128 = 96,720
O FE S ItHI 2,128,262,000& x60% % 1/6 = 212,827
O ¢t 4ty 2,128,262,000& x 1/12x 1/30x 10& = 59,119
235,758 214,159 21,599 |03 SRIHLYZZNHE =
O o1t 173,400
o ol+-HEYR Mz HUR 31,623
22 40,7703 x 1H x 254 = 10,356
oa0= 10,356,000& x 4/12 = 3,452
2EIH S 40,7703 x 1H x 254 = 10,356
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L (751) geraely S : (101) el (29 &8)
=R & & Il =

NEPEEEY 7,6408 x 19 x 25A1 2t x 128 = 2,292

o X4 40,7702 x 1% x 10 = 408

Fasy 40,7709 x 18 x 522 = 2,121

A EII(H, F4) 200,0008! x 1% x 23] = 400

mEEES 50,0008 x 1% x 128 = 600

PrRELY 10,356,000% x 1% x 15.81% = 1,638

o otk ELUR 138,777

le3 46,8209 x 5% x 2542 = 59,462

d0= 59,461,000& x4/12 = 19,821

240103 4,6828! x 4% x 2542 = 4,757

NZel2Rsg 87702 x 5% x 25A1 2t x 128 = 13,155

suzesg 70,2308 x 5% x 242 = 8,428




MNIg o (751) Letaeltl = @ (101) oAbl (el @ )

ER=
= 2 A & | ES

5 = oo

AX =< 46,820@ x 5% x 174 = 3,980

FEH 46,8203 x 5% x 524 = 12,174

HESIHI(E,F4) 200,000& x 59 x 23] = 2,000

ME==RESs 50,000 x 5% x 128 = 3,000

e =g 50,000 x 5% x 128 = 3,000

=4 150,000& x 5% x 12&8 = 9,000

o RaX= 3,000,000& x 1Y = 3,000

O sSgatgea 62,358

o BARE Y MERY o 62,358

g 40,7703 x 3% x 254 = 31,067

a03 31,067,000& x4/12 = 10,356

= ) R =] 40773 x38 x 254 = 3,107




(710) JHHIS Mg (751) Leraeit) S : (101) oI (9l : AF)

3@ =
o & o 5 2 ot b p] =

) = o o o

A2tel 2R 4 g 7.6408 x 3% x 25A1 2 x 128 = 6,876

suzoLy 61,1602 x 38 x 2 = 367

of X4 g 40,7709 x 3% x 102 = 1,224

EE4y 40,7709 x 3% x 522 = 6,361

A EIHI (&, F4) 200,0008! x 3% x 28| = 1,200

DEBEY| 50,0009 x 3% x 128 = 1,800

127,974 83,359 44,615 (04 JIZR2E2USE S

O ot 65,282

o Kot ZE QR (LAIAO) 10,013

23 40,7708 x 18 x 72 x 128 = 3,425

2t Al 4,0008 x 18 x72 x 128 = 336

= B 41,6809 x 5% x 302 = 6,252




1

0%
Jo
rx
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= 2 A = p] =
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o NUB2Z at45Z& YAANY o= 18,214
=23 46,8209 x 19 x 2542 = 11,893
2 Al H| 4,0008 x 1% x 2502 = 1,000
=54y 46,8209 x 1% x 522 = 2,435
DELEY| 50,0009 x 1% x 128 = 600
e 4g 50,0002 x 1% x 128 = 600
o4y 70,2302 x 1% x 24 = 1,686
o WABIE R4X BEESHI AL (LAIALIR)
40,7702 x 5% x 20 = 4,077
o AGHE (&S, YY) FHIQR(LAIAdALY) 32,978
23 40,7709 x 58 x 120 = 24,462
2t Al | 4,0009 x 5% x 1202 = 2,400




B2 2l b : (101) o124 H8l)
E]
£ p] =
2t s At
=E4g 40,7702 x 5% x 30 = 6,116
O galetzzel 41,079
o gl staHalH 29,110
AR ( L RMIBZ HESHH A2 (LAAIH=)
13,232
- o123 40,7702 x 5% x 50 = 10,193
2HAL | 4,0008 x 5% x 502 = 1,000
= PN 40,7709 x 5% x 10 = 2,039
xZ 2 & S (LAAHOIS) 15,878
-3 40,7709 x 6% x 502 = 12,231
2b Al b 4,0008 x 6% x 502 = 1,200
g4y 40,7708 x 6% x 102 = 2,447




Mg : (751) Lsrzei| 2 : (101) 24| (ct9] : M)

=
- = 2t & = Il =

5t = A o

o LOrATAl Bt el & 11,969

XA U XCIBR| QAR (AAIAIS OIS 11,969

-Jl=z 40,7709 x 6% x 402 = 9,785

— LAY 4,0009 x 6% x 402 = 960

- x=52y 40,7702 x 6% x 52 = 1,204

O =ssAn Y 21,613

o AU B(YAAIHOIR) 7,328

=z 40,7708 x 3% x 502 = 6,116

2t A H| 4 0008 x3% x50 = 600

=2y 40,7708 x 3% x 52 = 612

o MEEAQIL(IIZA) 14,285

=z 40,7702 x 18 x 2542 = 10,356




A HHI S Mg : (751) gratelt] S : (101) oI (S5l @ AF)
S
oo = 2 ot = p] =
5 2 o & o
2t Al | 4,0009 x 1% x 2502 = 1,000
g4y 40,7709 x 1% x 52 = 2,121
o Xt g 40,7702 x 1% x 102 = 408
Y EII (&, F4) 200,0008 x 1% x 23| = 400
106
0482 168,060 170,220 A2,160
3,600 3,600 IR EEEREL
O 53 100,0002 x 3% x 128 = 3,600
100, 140 102,300 ~2,160 [02 ZZ2EH|
O 53 250,0008 x 3% x 128 = 9,000
O 62 155,0009 x 142 x 128 = 26,040
O 72 140,0002! x 202 x 128 = 33,600
O 83 olal 105,0002! x 252 x 128 = 31,500




(700) AtIHIZ s 1 (710) ¥gHE M& : (751) LBraa)y S 1 (106) HP3HAY| (&9 @ HS)
= H B <
— of & oM = 2 At = p) =
& = of A o
64,320 64,320 003 EXFYLsHAY
O 2JIY A 224 80,0002 x 3% x 12¢ = 60, 480
O QEIA ¢y 22 80,0002 x 19 x 128 = 960
O Z29HI ¢g 222 80,0002 x 1% x 128 = 960
O Ol&h 2 2a gg 2R 80,0002 x 2% x 12¢ = 1,920
107
EX20 25,000 20,000 5,000
25,000 20,000 5,000 |O RIJlHL2=2X S E&32 5,000,000¥ x5h¥ = 25,000
200
29 3| 966,370 882,972 83,398
201
B2 A 695,921 700,674 A4 753
137,623 125,978 11,645 |01 At 22/
O gt 2Y| 109,523
o JE ARREH 100,000% x 27% = 2,700
o Jlg FAEEH| 150,000& x 14! = 150
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L (751) geraely S : (201) Yereo (29 &8)
=R & & Il =

o 2I¥BX HIIRS 20,0008 x 15 x 128 = 240

o ES M, HIEY THTY 20,0008 x 55 = 100

o Heasg 80008 x 3% x 128 = 288
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